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Answer all the questions.
g ‘@ (Group 'A’) [9%(2+2)=36]

q. (@) ¥ TR (Evaluate): ;:;*Z:

(@) & T (Simplify): 3/24°5 x3/4ab™
R (@) & TR (Solve) : 2./x+3 =+/5x-1

@) T3 e qHTEe HHW qgeedeaT & 100 F&{ g | AT 9gee T
FSTH! THT ToF & 770 UGG 5 TASGH HA (e |
The shirt of the uniform of a school is Rs. 100 cheaper than the pant.
If the total cost of the pant and shirt is Rs. 770, find the cost of each.
3 (@) U3 T JEATSHAT Fel faamfieeet TRIGHT IS T AEHeed! AThA
3000 3 | A FFT TTATEH 60 G 9 farfiewar dear ar SIS TR |
In a grouped data, the sum of the marks obtained by a certain number

of students in maths is 3000. If the average mark is 60, find the number
of students.
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Find the third quartile class from the
given cumulative frequency curve.

w

(Number of Students)

K

0 16 26 38 40 504'
Tedtes® (Marks obtained)
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T Refeuat 52 ol TUH S F AFEAE Tedebd TIeT ard fepreat
FETR WU a1 THHT g ARl B &7 7 Tl SRS Terd |

What is the probability of getting a faced card or an ace card when a card
is drawn randomly from a well-shuffled pack of 52 cards? Find it.

ST R 35 TaaeT SR A He Al IROTEeaT SeTTeees
LI CIRECICICREEY

Show the probabilities of possible outcomes in a tree diagram when a
coin is tossed two times.

feguar femm XY = 8 &1, XZ=128.41, T
ZYXZ=60°9T AXYZ & &% (Heblerleld | %&‘ S,
In the given figure, XY = 8 cm, XZ = 12 cm

and ZYXZ = 60°. Find the area of AXYZ. z
A
fezuat fas DE =EF =FD =6 &.#1. T CF = 1043
.M. g1 Ik Ryowe I a9 ASTE | C
In the given figure, DE = EF = FD = 6 cm and D %
CF =10+/3 cm. Find the volume of the prism. 3
E 6cm F

TS AT ArATa Uikhr 44 3.6, g\ A sy T g AR 27
M. g 9 W AATH U GAGH SABA (APleEI |

The circumference of the base of a cylinder is 44 cm. If the sum of
the radius and height is 27 cm, find the total surface area of the cylinder.

wgeT AiefE aEa 120 o 0. g | Aty s oo 3 4. g s
Trefiepl g IATE MFeTa i |

The volume of a cone is 127 cubic cm. If the radius of the base is 3
cm, find the slant height of the cone.

T3 uEl & 700 AT ST lzé%m‘aﬁwﬁma—eﬁﬁww
TSR |
A watch is sold for Rs. 700 at a loss of 12%%. Find the cost price of

the watch.
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Tger HiaTed ¥ & 25000 w1 fHhE | af e greR 5% g W 2 avuty
T HiaTgd Yol fagraved Sfa g 7 I SSe, |

A mobile set is bought for Rs. 25000. If the annual rate of depreciation
is 5%, what will be the selling price of the mobile set after 2 years?
Find it.

feguar feemr AD || BC, AB || DC T AFLDE A D
113 AF=68.#1. T DE=10&.41. &5

[JABCD & &% e e |

In the given diagram, AD||BC, ABJ||DC and B E C
AF1DE. If AF = 6 cm and DE = 10 cm, find

the area of [7JABCD. T
feguanr femr O gt dwsfawg & | alF LSPT=60°9C . /\
ZQRS T ZQOS & ATeE Maead | ?
In the given figure, O is the centre of the circle. If ‘E’
ZSPT=60°, find the values of ZQRS and ZQOS. \ )
feguept Persrar O et e &1 1 Al LADC = 60° .@\
g 9 /BAC F1 1T BT 57 7 Tl RSTE | K
In the given figure, O is the centre of the circle. If q’
ZADC = 60°, what is the size of ZBAC? Find it. ¥

feguat fera PA T PB g% @ef@mse g1 O

IJIqH dwiag 8 | A LAOB = 12009

ZAPB & 99 faleag |

In the given figure, PA and PB are two
tangents and O is the centre of the circle.
If ZAOB= 1209, find the value of ZAPB.
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T ‘@ (Group 'B') (16x4=64)

50 ST Rt AT 15 STer ATelt T Srgiiett 39 Forr w1 GO T 5 ST
g frvgwed & ai a A | aft Farelt ferverma w1 O framdieee g T
ST A 9 Rramfieest S 2:1 @ AU G W7 ST FAnT
TR st foror w9 Faren framdffewet de e |

In a group of 50 students 15 like both Nepali and English subject and 5 do
not like any of the two subjects. If the number of students who like Nepali
only and the number of students who like English only are in the ratio of

2 : 1, find the number of students who do not like English subject by using
venn-diagram.

7.9. Maeter (Find the H.C.F of) :
I12x*-27x%2, 16x* + 54xy° and  4x° + 2x% - 6x)°

& TR (Solve) : 16 -5x4** + 64=0
2 1 2
J— + J—
x-y 2x+y x+y 2x-y

TS AAATHIR FiraraT TRiafT 46 #. T &ewher 126 @t Y. G T S A
g T ATSTE I SR |

The perimeter of a rectangular garden is 46 m and the area is 126 sq.m.
Find the length and breadth of the garden.

ae feguar qeaTeme AiAH Ial A STeIq :
Find the median of the data given below:

9 e (Simplify) :

grdre® (Marks obtained) | 0-20 |20-40 |40-60 | 60-80 | 80-100

formmeft @ (No. of Students)| 2 3 5 4 6

75 e el UIET U FAATE UIST TGl U0l AqwTah &l aid Hv 300
qrEaT | afy uY T wEEEe g 2543 R @ W w@dl I91g 99T AS e, |

The angle of depression of the top of a tree as observed from the roof of
a house 75 ft. high was found to be 30°. If the distance between the house

and tree is 25+/3 ft., find the height of the tree.
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feguer for gar st T uger |l el st 3
TP &1 | AR Wt T TS aTer e 73, A
T aw@ @ @ 31 & g W q oaws '

QX FAEHT S (HePTeEI | : 31 cm

The given figure is of a solid object made up of a hemi-sphere and a cone.
If the common radius of the cone and hemi-sphere is 7 cm and the total
length of the object is 31 cm, Find the total surface area of the object.

feguat fermT ABCD USer frafirget aetia e &b |
OP 7@a 3913 T PD gg& fbamar &1 1 aft PD =13 &.41. 13 em
T BC =10 1. g1 9 & frafwesr smaaq o \ N

TSR | D
In the given figure, ABCD is a square base of a !
B

pyramid, OP its height and PD is the lateral edge. If
PD =13 cm and BC = 10 c¢m, find the volume of the

pyramid.

Aﬁmmﬁ%wmmﬂmﬁmﬁataﬁmwﬁmBm‘

I | At g3 faell &1 B 6 T faearsg v B TS 10 #H fearsd
i & drer 7 o e TE |

A finishes % part of a work in 9 days and he calls B to complete the

remaining work. If both of them finish the work in6 days, how many days
will B alone take to finish the whole work? Find it.

TSel hald! Afgwd qed & 2,50,000 G | R T8 15% g Ruaig 13%
e afigfy T TS T UF T qEH G el fobr Hia foeuet 7 g
TSR |

The marked price of a Scooter is Rs. 2,50,000. If the shopkeeper allows

15% discount and levies 13% value added tax, how much should a customer
have to pay to buy the Scooter? Find it.
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& g ATNE 10% FT I 2 T AT A & 400 G WA FEl qHY T
SATE WY g T ST Tl ASRd |

The simple interest on a certain sum of money at the rate of 10% per
annum in 2 years is Rs. 400. Find the compound interest of the same sum
at the same rate and for the same duration of time.

T3¢ AR MN T S8 FuMR @ret MN T AB st Wl ffeiee AMN T
BMN &7 §1%eT 6 grage, Wl THIRTT a1, |

Prove that the areas of AAMN and ABMN standing on the same base
MN and between the same parallel lines MN and AB are equal.

feguer T gae sfate® AB T CD ameata E

a1 dfeusr g, 91 fag w8TE B a
ZAEC = %(KC- BD) E
In the given figure, chords AB and CD of the C

circle meet at an external point E. Prove that:

ZAEC = %(KC-TB_]B)

TP TS PQRS FT G¥H@ #0ee QPS T SRQ TIT® gy, Wil JARTgIRT
ThRT0T TR | (@I 3 .. s U gEHICT dxie AT G 1)

Verify experimentally that the opposite angles QPS and SRQ of the
cyclic quadrilateral PQRS are supplementary. (Two circles of radii at
least 3 cm are necessary.)

a=783.M, b=728 M Tc=658.M. WTH AABC FI TIAT TR | Ith
AABC #1 &%l JeX g4 T3er 9ad CDEF #1 ufd TaA1 a1, |
Construct a AABC having a= 7.8 cm, b= 7.2 cm and ¢ = 6.5 cm. Also
construct a rectangle CDEF equal in area to AABC.
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